1.   Transaction Analysis 
For each of the following transactions, show the effect if any of the transaction or adjustments on the appropriate balance sheet category or on net income by ensuring for each category affected the account name and amount and indicate whether this is an addition (+) or subtraction (-) using the horizontal analysis.  Items that affect net income should not also be shown as affecting owners’ equity.  
a. Bonds payable with a face amount of $15,000 are issued at par on August 1.  The coupon interest rate is 8% and interest is paid semi-annually.
b. At the end of December the company accrues the interest that is payable on the bonds issued in (a).  

c. On Feb. 1 the company pays the interest on the bonds
d.  Bonds payable with a face amount of $5,000 are issued at a price of 99 (That means at 99% of par value)  

e. Of the proceeds from the bonds issued in (d), $3,000 is used to purchase land for future expansion 

f. Because of warranty claims, finished goods inventories costing $200 is sent to customers to replace defective products 

g. The 4 month 10% (annual interest rate)  note payable with face amount of $12,000 was signed.  The bank made the loan on a discount basis.  

h. A long-term bond with principal of $25,000 will become due within the current year.

i. At the end of the month, the company recognizes its rent obligation of $4000 which it has not yet paid.

j. In the next month the company pays both the current month’s rent of $4000 and pays the previous month’s rent which it had accrued.

	1
	Assets
	Liabilities
	
	

	
	Transaction / Adjustment
	Current Asset
	Noncurrent Asset
	Current Liability
	Noncurrent Liability
	Owners Equity
	Net Income

	a.
	Bonds payable with a face amount of $15,000 are issued at par.
	Cash + 15,000
	
	
	Bonds Payable +15,000
	
	

	b.
	At the end of December the company accrues the interest that is payable on the bonds issued in (a)
	
	
	
	
	
	

	c.  
	On Feb. 1 the company pays the interest on the bonds 
	
	
	
	
	
	

	d
	Bonds payable with a face amount of $5,000 are issued at a price of 99. 
	
	
	
	
	
	

	e
	Of the proceeds from the bonds issued in part (d), $3,000 is used to purchase land for future expansion
	
	
	
	
	
	

	f
	Because of warranty claims, finished goods inventories costing $200 is sent to customers to replace defective products 
	
	
	
	
	
	

	g
	The company borrwed $12,000 for 4 months at a 10% (annual) interest rate) from a bank. The bank made the loan on a discount basis
	
	
	
	
	
	

	h
	A long-term bond with principal  of $25,000 will become due within the current year
	
	
	
	
	
	

	i
	At the end of the month, the company recognizes its rent obligation of $4000 which it has not yet paid.
	
	
	
	
	
	

	j
	In the next month the company pays both the current month’s rent of $4000 and pays the previous month’s rent which it had accrued
	
	
	
	
	
	


2.   Bonds payable – calculate issue price and bond  discount

On January 01, 2009 Roberts Inc. issued $2 million face amount of 10-year 10% coupon rate bonds when market interest rates were 12%. The bonds pay interest annually and mature on Dec. 31, 2018.

a. Using the present value tables the appendix at the end of the book or your calculators), calculate the proceeds (issue price) of Drennen’s bonds on January 1, 2009, assuming that the bonds were sold to provide a market rate of return to the investor 

b. Show the accounting entry for the issuance of the bonds.

c. What is the annual interest expense?

d. Show the accounting entry for this payment. 
b.  

	Assets
	Liabilities
	Owners’ Equity
	
	Net Income
	Revenues
	Expenses

	
	
	
	
	
	
	


	
	Debit
	Credit

	
	
	

	
	
	

	
	
	


d. 

	Assets
	Liabilities
	Owners’ Equity
	
	Net Income
	Revenues
	Expenses

	
	Debit
	Credit

	
	
	

	
	
	

	
	
	


3.  Common stock balance sheet disclosure

The balance sheet caption for common stock is the following: 

	Common stock, $5 par value, 2,000,000 shares authorized, 1,400,000 shares issued, 1,250,000 shares outstanding
	    $        ???


a. Calculate the dollar amount that will appear in the caption above.
b. Calculate the total amount of a cash dividend of $0.15 per share.

c. What accounts for the difference between the issued shares and outstanding shares?  

